2021 o GPA)/;

MEa-F|RIBE% FrlE s#i| GPA [BRE| |8Ea-F|RIE% i@ sl GPA [ 2E
A001100 | X AR—VEK - Jof | |ZEE#ERE| 2 [3.23 | 4.31 |]J050200 |HEmHF 2 MBS TR 2 [2.78 |4.58
A001200 | X R—YEE - S Il |BEEREE| 2 [3.07 [4.46 ||J060100 |BRiALF 1 MBS TR 2 [3.18 [4.83
A001300 [RAR—v ik - &5 | (BEERBE| 2 |3.38 |4.23 |]J060200 |EARiA = 2 WHES TSR 2 [2.50 [4.71
A001400 | R R— v EE - EfE |l |ZHEEBERB| 2 [3.31 |4.57 []J060400 | TR/ F—TF BHBESITER| 2 [3.51 [4.72
A010800 |fEFE D FlF HEEBRA| 2 |2.66 |4.48 [[Jo70100({C 7 R4S 2 v 7HEE [eBRTHR| 2 |1.80 |4.00
A014300 |1V T 73— 1 HEEBEAA[ 2 1.30 |3.82 |[J070300 [[E®REELS BHESTER| 2 |2.36 [4.73
A014400 1B Y 77> — 2 HEEBRA| 2 |2.53 |4.40 [[Jog0100|mAy FITF MBS TR 2 [1.90 |4.67
A017000 |4EER R—"VigE HEEBRE| 1 |2.52 |4.80 []J090100 |B&#ET®1 WHESTHR| 2 [2.24 [4.53
A023000 |HAZE 1 HEEBRIA| 2 [3.03 [4.95 |[J090200 [B#EIT¥2 wmES TR 2 [2.31 [4.68
A023100 [HAzE 2 HEEBERIA[ 2 |3.03 [4.95 [[J100100 |#mE S A HWHES TSR 2 |2.15 | 4.50
A023200 |HAZE 3 HEEBRE| 2 [2.83 [4.91 ||J100200 |#I#E T WHES TSR] 2 |[2.59 [4.55
A023300 |HAZE 4 HEEBRRA| 2 |2.54 [4.92 [[J110100 |BXEEE 1 MBS TR 4 [2.02 [3.19
A023800 | H AEE % HEEBRE] 2 [2.79 |3.68 |[J110200 |EX[EEK 2 WRESTSR| 4 |2.54 |2.50
A027500 |35 1 HEEBRE| 2 [2.85 |4.45 ||J120100 |BR S E 1 wES TR 2 [1.94 [4.69
A027600 |Z£E 2 HEEBRRA| 2 2.78 |4.64 |[J120200 |BEH S 2 MBS TR 2 [2.34 [4.38
A027700 |ZEZE 3 HEEBRE| 2 [2.63 |4.44 ||J130100 |BFYiEERE wHESTSR| 2 |1.78 [4.17
A027800 [352E 4 HEEBRRA| 2 |2.77 |4.57 [[J130200 B FE K 1 WHES TR 2 [2.12 |4.45
A027900 |Z£Z5 5 HEEBERA| 2 2.27 |4.48 |[J130300 |EFEE 2 wmES TR 2 [2.62 |[4.55
A028000 |Z£ZE 6 HEEBERA| 2 [2.17 |4.62 |[J140100 |[EStkn TS WHES TR 2 [2.10 [2.94
A028100 | K% - Ky HEEBRRA| 2 256 |4.38 [[J140200(/c7—zL s bo= s 2 |mBRTHR| 2 [2.28 |2.10
A028300 |2 HEEBRA| 2 |2.69 |4.46 [[J140300 [B5 R ETEY MBS TR 2 [3.80 [4.63
A029000 (a2 2=/ —>a vV ER |HEERRE| 2 [3.16 |4.63 |[J150100 |XEETLF wWES TR 2 [0.69 [3.71
A029300 |# =SB HEEBRE| 2 [2.65 |4.14 ||J150200 |REBE IS WMES TR 2 [3.00 [2.09
A029400 [tt &S BIAF HEEWRE| 2 [3.25 |4.43 ||J150300 |ESER - EXHERER |MWHEK TSR] 2 |1.00 |3.63
A029500 | k88 = HEEBRIA| 2 [3.23 [4.02 |[|J160100 [#HMNTEZ MBS TSR] 2 | 259 [4.78
A029700 | R HEEBABIA| 2 [1.95 |4.12 ||J160200 |[# TEE 1 wHES TSR] 2 |3.12 [4.75
A029800 (R R—yH A Tz |HEEBRIE| 2 [2.50 |4.33 |[|J160300 | T 5EE 2 MBS TR 2 [3.69 [5.00
A029900 |54 HE 1 (BEE) |HESERAE| 2 2.06 |3.90 ||J160400 |B#EEER - =5 wES TR 2 [2.31 [4.77
A030000 |EE=4EE 1 (hEEE) |HEEBRIE| 2 [0.87 [4.56 |[|J160500 |E8iE=E - £8 2 [|[#HESTSR| 2 [2.42 [5.00
A030200 |BE A EHE2 (BEE) |BEERRE| 2 |1.56 |4.37 |[J160700 *h*%ﬁz e WHES TR 2 [3.86 |4.67
A030300 |[E— 4 EZE 2 (FEZE) (HEEBREB| 2 [2.17 [4.86 ||J160800 |BXEF I ¥ 1 |[#REaT2R| 2 [2.42 [3.23
A030600 [ A AR HEEBRIE| 2 [3.05 |4.26 ||J160900 %ﬁ%%z#%@ﬁz WHES TR 2 [2.27 [4.00
A030700(t 2 —<=>7—F HEEBERE| 2 |2.75 |4.30 ||J170400 |Z22£07%% wWESTHR| 6 [2.70 [4.76
A030800 | CE= R IB Lt ix HEEBRB] 2 12.13 [4.16 [[J180100[m#y r7ov s bAML |BMESTSR| 2 |3.10 | 3.63
A031000 |t &2 B EE 1 HEEEAE[ 1 [3.30 [4.62 [[J180200(axy r7av s tAm2 [mESTHR| 2 |3.55 |4.86
A031100 | =SEIEE 2 HEEEAA[ 1 [2.60 |4.32 [[J180300|axy r7av s ram [mEsTHa| 2 |3.67 |4.50
A031200 |mEmEmsy & thakiies (HEERR | 2 1 1.88 |4.40 |[|J180400 [o®vy r 7oy rE#2 [BmESTER| 2 |4.00 |4.00
A031400 | FLE B BN BLFE E HEEBERA| 2 11.95 [4.29 [[J180500 |EiEmMESR T WHES TSR] 2 |1.93 [4.51
A031601 | EEF Hagle - EEE  |BEEREE]| 2 - | 4.28 |]J180600 | 1 WHES TSR] 2 [2.12 [4.52
A031602 | EREF HEEE - EFE  [BEERRE]| 2 - |4.32 ||J180700 [#HHES 2 WHES TR 2 [2.38 [4.90
A031701 | EREF NFERE - #1F  |HEEREE] 2 - | 4.43 |]J180800 [#&fR % 1 WHES TSR 2 |2.71 [4.45
A031702 | EREF NFERE - #1%  |HEEREE]| 2 - | 4.40 |]J180900 [#EHAE 2 wHESTHR| 2 [1.70 [4.82
A031900 |EEZ—H D &N HEEBERA| 2 293 [4.45 [[J181000 (T & Ah% 1 BWES TSR] 2 |3.08 [4.75
A032000 | IR = Em HEEBRE| 2 [2.21 [4.59 ||J181100 | Tz H% 2 WHESTHR| 2 |3.15 [4.81
A032100 |ieatm (K5 > 7« 7igm) [BWEERRIE| 2 [2.62 [4.41 |[J181200 | BB WHES TR 2 [2.21 [4.46
A032400 | hF ) 77— HEEBRRA| 2 |2.01 [4.08 [[J181300(xA =2 X MBS TR 2 [2.20 |4.54
A032401 [H=Z U 75> — HEEBRA| 2 [1.15 [3.98 ||J181400(xH b=/ X5 |#EESTHH| 4 [2.86 |3.67
A032500 ¥z x Uy 2FLER L |BEERRE| 1 [2.92 |3.71 ||J181500 |#iet 2 +—IL B TR 2 |3.37 [4.73
A032600|>z Vv o 2% LEK2 |BBERRE| 1 [2.57 |4.56 ||J181600 | TF 4 MBS TER| 2 |1.60 [4.47
A032700 (koo 7 5~ FAEHE |BEEEMRAIE| 2 [3.92 |5.00 ||L010200 |#IBIERNIEHE BEEFR 2 13.20 [4.50
A032800 |EBREIE HEEHRA| 2 [1.89 |4.83 ||L010300|F — R BT EE R 2 1291 [4.00
A033100 [aricnzrvor—sy iz aam [EEBRRIE| 2 [2.10 |4.54 ||L010800 |Hbisk 4R BEFR 2 12.38 [4.46
1020100 | g = wHES TR 2 [2.65 [4.69 ||L020100 |HifTEmIE BEFR 2 |2.67 [4.47
1020200 |z& TR BMER TR 2 |2.35 [4.66 [[L020200[ BB R U'EE BEFR 4 13.10 | 4.44
1020300 | BT R L 1 MBS TR 2 [2.69 [4.70 ||L030100|C A D& BEFR 2 |1.87 [4.45
1020400 | E R %G 2 WHESTHR| 2 [2.34 [4.30 ||L030200|C AD 1 BREFR 1 [2.15 | 4.66
J020500|CAD//CAE MBS TSR 2 [2.84 |4.74 ||L030300|C AD 2 BREFR 1 [2.28 |4.50
J020600|CAD,/ CAM wHES TR 2 [3.44 [5.00 ||L030400|/|C AD 3 SR 1 [2.97 |4.42
J030100 [#tgitr WRESTHR| 2 |2.70 [4.76 |[L030500 [E#EEI BEEFR 2 |2.66 [4.53
1030200 | #tin T % MBS THR| 2 [2.45 |4.33 ||L030600 |5%ET5IM 1 BREEHA 2 1212 [4.40
J030300 | EXEFMEL MBS TER| 2 [2.42 |2.54 ||L030700 5555 2 BEFR 2 |12.23 [4.38
J040100 |#FRIA% 1 MBS TSR 2 [2.27 [4.75 ||L030800 |z%Et4H 3 HRESR 2 12.36 [4.48
J040200 |# Rl % 2 wmEa TR 2 10.88 [3.27 [[L030900 (5558 4 SR 2 [2.58 |4.68
J050100 | = 1 WHES TSR 2 [2.20 [4.50 ||L031000|5%5t4 5 BREEEA 2 [3.00 |4.67




BEa-R|RIB 4 = sk GPA [[ERE| [#Ea—F|RIBZ = skl GPA [(ERE
L040100 |22 &HE 1 BEFR 2 12.89 [4.56 [[N060300|H1THZ fEsEITSR| 2 [1.43 [4.12
L040200 | ZHE 2 BEFR 2 [2.15 [4.08 [[NO70100 |4 T 5 £ fieFETeR| 2 [1.67 |3.89
L040300 |1 E:% BEFR 2 12.18 [4.58 |[[N070200|¥RE) L= MEFETSR| 2 [2.29 |4.50
LO40400| A _R—ZFH A ~ BEFR 2 |2.65 [4.43 |[N080100 |fifiZ2 5 B [ 2R WLIB fEFHISR| 2 [1.92 |4.23
LO40500|EX > TH A >~ BREFR 2 |2.32 [4.53 [[N080200(fiEFH 7RSS I v/ |MmEFEIEM| 2 [1.41 |4.45
L040600|Y 7 # — L BEFR 2 3.00 [4.80 [[N080300 |fifZe = B & B RRAT fEsmIsR| 2 [1.88 |4.67
L040700 | H AR EE S0 BEEFE 2 12.10 [4.52 |[N090100|EBS B FEMRE frEsmITER| 2 [1.92 |4.79
L040800 | 5L S BEFR 2 [2.17 [4.31 |[N090200|ESEFISHH MEFETSR| 2 [1.21 |3.41
L040900 [£RF =HE B 2 |2.58 |3.66 [[N100100|F+ L v A (EfEt) |MEFTHIFR| 2 |3.40 |4.77
L041000|5 v KX —7 SR 2 [2.00 [4.22 |[N100200[5F+L>>B (TOE1C) [mzmsmT=sm] 2 [2.11 [4.68
LO50100| A » 7 U 7IRIETSY |BEFH 2 [2.58 | 4.78 ||N100300|F v L > C (Batidii®) |MmZsEIss| 2 | 1.75 | 4.67
L050200 |2 EEBIET % EEESR 2 [2.01 [4.80 |[N110100|mz=z (ToE 1) v2v—1 [mzemTes]| 2 [2.93 [4.60
L050300 #2416 BEFR 2 [2.69 [4.81 |[N110200|mzzz (toe 1¢0) v2r—n [iZsmT=R] 2 [2.79 [4.65
L060100|#E 15 1 REFR 2 [1.42 [4.28 |[N120100| T3 52 Ea £ H frEFEIYR| 2 [0.85 |4.24
L060200 |#8EH = 2 BREFR 2 |3.50 [4.43 ||[N120200|fiize TS =8 1 MEFEISR| 2 | 1.78 |3.58
L060300 |#E:&E % 3 BEFR 2 [1.10 [4.45 ||N120300(fZE T8 2 fizesm IR 2 [4.00 |4.75
L060400 [#4#} H 5 BEFH 2 [1.09 [4.61 |[N130100|C A DE# (X)) frEFEIER| 2 |3.10 [4.75
L070100 | EE—HKiEE BEFR 2 [2.32 [3.90 ||N130200|C A DER (&3 frEFEIYR| 2 | 1.55 [4.53
L070200 |[#&E:%ET 1 BREFR 2 |1.75 | 4.26 ||N130300 (#2214 C A D it FH FRZEFEIER| 2 [2.18 [4.71
L070300 |#i& 55T 2 BEFR 2 |3.12 [4.37 [[N130400(fnZEHC A DERE fEFEISR| 2 |3.80 |5.00
L080100 | & R ER BEFR 2 12.80 [4.67 [[N140100(m 4 v F T2 frEsE TSR 2 |2.08 |4.00
L080200 |} T BEFR 2 10.78 [4.46 |[N140200|&E> 2T LT feFETeR| 2 [1.46 |3.89
L090100(fEL 1 BER 2 1276 [4.67 [[N150100 |fnZetz%5t EFETSR| 2 [2.81 |4.00
L090200 (T 2 BEFR 2 [2.24 | 4.80 ||N150200 |22 1S 25 fi fRZEFEITER| 2 [2.72 [4.65
1090300 [~ » v bEBERUEE [BEFF] 2 |2.21 [4.62 [|[N150300 (2 FHESE frEFEHIPR| 2 |1.72 |3.85
L100100 |B&EE#R 1 SR 2 [2.15 [4.09 [[N150400 |fnZet T /£ MEFETSR| 2 [2.14 |4.38
L100200 | ER 2 BEFR 2 |2.22 [4.29 [[N150500 |52 E & HE fEFm ISR 2 [2.76 |4.95
L110100 [#&fFA %k 1 BESR 2 13.02 [4.55 [[N160100 [finZe;EHR fEFE TR 2 [3.03 [4.72
L110200 [¥&FEA 5 2 BREFR 2 11.90 | 4.56 ||N160200 | & s fRZEFEITER| 2 [2.27 |4.64
L110300 |#fEo 1 BREFR 2 |2.28 [4.51 [[N160300 [2xfmErE frEFEHIZR| 2 |2.73 [4.79
L110400 |0 ED 2 BREFR 2 250 [4.68 |[N160400|fBE=E feFETHR| 2 |4.00 |4.94
L120100|7RAY o b 1 BEFH 2 12.88 [4.79 |[|N160500 |24t A fzEsm TSR] 2 |3.89 |4.88
L120200|7 A =2 k2 BER 2 [2.66 [4.58 |[N170100|n%y r7avz s bAML [esmTeR| 2 [3.00 [3.73
L120300|7a>Y =42 k3 BEFR 2 [2.56 14.38 [[N170200|amy r7avzs b am2 [iresmTsR| 2 10.00 -

L120400 732 = +—JL A EEFR 2 [3.39 [4.75 |[N170300|a%y r7ov s rere [esmTer] 2 [3.00 -

L120500|#F%8+ = +—IL B BEFR 2 [3.61 |[4.77 ||N170400|n%y b 7oy s pER2 [liZEFEISR] 2 [1.75 [4.50
L120600 | Z= 2R/ 52 BEFR 6 [3.09 [4.67 |[N180100[L ~L7 v 7" A fEFETER| 2 [3.09 |4.65
L120700|EZE 7 1 —IL K7 — 7 [FBEFFR 1 [4.00 - |[N180200(L N7y 7B EFETSR| 2 [2.70 |4.70
L120800|4 v & —> > v 7 SR 1 [4.00 - ||N180300 [fi 2 F B A frEFEHIYR| 2 |3.18 [4.73
1120900 | ra—rnazazsonm [REEZHR) 2 12.00 |3.29 [|N190100|ZcZ£F5% mZEFHIFR| 6 |3.00 |4.80
L121000 | BRLERES FEREFR 2 12.80 [4.73 ||N190200| %% fiesETeR| 2 [1.73 |3.75
11211003818 KBS BEFR 2 1084 [4.00 |[[Po10100|a v a— 2R wmx 77| 2 [2.75 [4.34
L121200 |#b#& T = BEFR 2 [2.40 | 4.37 ||P010200| | T E## AT 7R 2 [ 2.86 | 4.05
1121300 (#5585t 3 REFR 2 |1.76 [4.77 |[[P010300|e ¥ X EH w472 2 [1.64 [4.13
L121400| =14 BEFR 2 11.88 [4.59 ||P030100 |7 R4S I v /&M |EHx7728| 2 |3.02 |4.69
N010100 (#4515 1 fzFE TSR 2 [1.91 [4.48 ||P030200|CEE RS T I v 7 s 7«72 2 [1.80 |4.42
N010200 [#51&E5 2 mzeeETyR]| 2 [1.79 [4.38 ||P030300|J avaros s sy o |wsxsren]| 2 [2.57 [4.43
N010300 |¥&F 5k 1 fEFEITHR| 2 | 2.35 [4.45 ||P030400 |7 /LT Y X A ERAT 4 7R 2 [3.02 |4.72
N010400 [¥&H A5k 2 MEFETHR| 2 [1.50 [4.09 |[P040100 |E BB R NESR w74 7R 3 [2.11 [4.48
N010500 |#r A zEFETSR| 2 |3.30 [4.05 [[P040200 [EGLE KR UNEER w7« 728 3 ]1.62 [4.49
N010600[~ 7 kJLERHT fRZZFEISR| 2 [3.43 | 4.14 ||P040300 |7 — X T R ONEDR  |E®x7«7%8| 3 [1.66 |4.28
N020100 (ExEIE fZeFE ISR 2 [1.67 | 3.87 ||P040400|BAS BB R VEE |E®x7«7%8| 3 [3.04 | 4.64
N020200( & fZZFE TSR 2 [1.75 | 4.25 ||P050100 |V 7 b7 = 7EEFEAFT |EHx 7« 728 2 [2.08 | 4.43
N030100 [ff %2 T4 feRE TR 2 [2.89 [4.90 ||P050200|We b X T L#EE |wHmxr«72n| 2 [2.17 [4.38
N030200 [fiZe T 5 £5f fiRFEIER| 2 |3.13 [4.84 [[P060100 |15 > X 7 LRIFEAFT |[EEA 7« 74| 2 | 1.92 | 4.09
N030300 |5 B TF1t:m fzEFEISR| 2 [1.70 [4.41 ||PO70100 |4 » & —F v FEEE |#Hmx7« 728 2 [3.09 [4.21
N040100 |44 %l 1) F Ehf fZEFE TSR 2 [1.46 | 4.03 ||P070200 |4 > & — v RNoF  |EEx7 72R| 2 [2.98 |4.43
NO040200 |+ £ %55 B AZEFEIFR| 2 [1.96 [4.29 |[[PO70300|1 > X —Fv MERE |E®s7«7%R| 2 [3.25 [3.81
N040300|#&iE 75 R ITER| 2 [1.23 [3.89 ||P080100|F — & N — X Ei# A7 72| 2 [2.11 [4.45
N040400|fnZ2 F M Al mzEFETSR| 2 |1.91 [4.26 ||P080200|F— 4 ~— X5 wwA 7« 72| 2 [2.08 [4.59
N050100[#H % freRE TR 2 [1.94 [4.44 ||P080300 |7 — 4 R—REE w74 7R 2 [2.20 [4.62
N050200[E°R kv T > ¥ v fesFE TR 2 |3.29 [4.79 [|P090100|EHRA 714 7 L4t |E#A7+7%8| 2 |1.63 |3.96
N050300({4—E> T FRZZFE TSR 2 [3.22 |4.68 ||P090200 |18 4 T« 7 &3k - IR |sm 47« 78| 2 [3.26 | 4.54
N060100 |7k 775 fzeFEE TSR 2 |3.62 [4.13 [[P090300|e B 2 XX Em w7« 7R 2 [3.31 [4.44
N060200|Z=E R 1= mzsmTRR| 2 13.61 |4.26 |[P090400 7oy s b~wxoxvr@m|wmers 7| 2 [2.91 [4.58




MEa-F|RIBE% FrlE x| GPA [BRE| |HEa—-F|RIB%L FilE k| GPA [BRE
P090500(F Y 4iav 7 v ks 7 7er| 2 |2.31 [4.61 [[E000000|BEEEHA REREER 2 [1.87 [4.25
P100100|We b FH A >~ A7« 78| 2 |2.26 [4.15 ||E009100|EESETH B BeEREER| 2 [2.82 |4.55
P100200|We b 7= X —> 3 |E® 7728 | 2 |1.89 |4.06 ||E012000 | EFHH REREFR 411,99 [4.26
P100300|We b 7’5 v = ¥ |B®A7« 78| 2 |2.36 [4.56 [|E012100 (&= AFT rEfEFR 2 1230 [4.35
P110100 |x&7% mx 74 78R 2 [2.94 |4.63 ||E013200 {2 =B A BERAEFRl 2 |2.46 [4.61
P110200(F v ¥~ WHA 74 72R | 1 [2.02 |4.67 ||E013300 [{X=EH:m B REREFR 2 |2.41 [4.66
P110300|a > F > vV ibE# A7« 7R 2 |2.68 [4.28 ||E013400[R=94r ReEREFR| 2 |2.63 |4.57
P120100|avea—42574 v o228 |lE®A 7« 728 2 [2.60 | 4.52 ||E013900 |#FXF A EH5x A BERAFER 2 [2.45 |1 4.50
P120200|L&ETH A ~ BwA T4 7R| 2 [2.75 [4.29 [ [E014800 & F % BeERAEER| 4 [2.22 |4.59
P120300|avea—452574voxmm |87« 728 | 2 |1.85 [4.53 [[E014900 [{&F 3 AP rEfEFR 2 1233 [4.29
P120400(3 D CADER A4 72R| 2 [2.44 | 4.44 ||E016100 [ F B ER BREREFR 2 |2.20 [4.26
P120500|{3 D C AD/GH x4 7R 2 [2.83 [4.61 ||E016700 [#XFOHT BeERETR| 4 [1.88 |4.45
P130100|avta—s3a—vy o &e [EHA7« 78| 2 |2.77 |4.63 ||E016900|E %A REREER| 2 1213 |4.34
P130200|avta—432—vyomA |ERA 7« 7528 | 2 |2.46 |4.33 ||E017000|&%=B ReEEER 2 [2.38 [4.21
P130300|avta—432—vyoms [EHa7+ 7R 2 |2.84 [4.14 [[E017600( AR FHS BeERAEER| 4 12.80 |4.53
P140100 |RrfR{bE - UM F w7 7R 2 [2.98 [4.59 |[E017700 | AHIELBLER BeEREFRl 2 [2.33 |4.17
P140200 |MEiks 2 R ONEE |B®H 7728 3 [ 3.79 | 4.75 ||E018800 |E R FEF ReEREERl 2 |2.01 [4.32
P160100 |15 & BREE — AP |s®~ 7« 78| 2 |2.61 [4.03 |[E020000 |84z REREER 4 241 |4.23
P160200 |15t & B2 — B E |wB®m 7« 78| 2 1.92 [4.25 ||E020300|BA B R BEREFR| 4 [3.28 [4.75
P160300 |15 IufT & B — £5% [wm 7+ 73r| 2 |2.72 [4.11 |[E020400|B1 7538554 REEER 4 [3.21 [4.67
P170100 |#f55 £ = 7 —JL A A7 72R| 2 [3.27 | 4.67 ||E021500 | S@AHEMBHTES | |[RERAEFLE] 2 [2.81 |4.80
P170200 |#t55+ = > —J/L B B®WA 7« 7%R| 2 |3.38 |4.86 ||E021600 [ =@AHEBNAITER || [REFEFFE| 4 [3.69 |4.67
P170300 [Z2 A/ 5T WEEA T4 7R 6 |2.32 [4.70 [[E021700 |1 & ESRMREES [REZFFER 4 2.92 |4.00
P180100|m&y 7Yz 2 FAFIL [B®AF 1 72r| 2 |3.14 [3.69 ||E022400 (& BUE A BeEEER 2 13.11 [4.86
P180200|m#y 7Ry s FAFI2 [B®AF 1 78| 2 |4.00 [3.50 ||E022500(t&@UtE B BEREER 2 2.07 [4.00
P180300|m#y F 7Ry o pEREL [E®A 71 78| 2 |3.50 [5.00 [[E022800(tt&%EHEAFT geErEER 2 [2.04 |4.45
P180400|m&y b7ovx o pERE2 |7« 72| 2 |4.00 |4.89 ||E023300 |t &1RER A BReEZEFR| 2 11.85 |4.11
P180500 1B X 7 1 7 AF9 x4 78| 2 [2.81 [4.19 ||E023400|#&1RkE:% B BREREFR 2 |2.65 [3.94
P180600 [mgisn: - EHERUER 1 (B8~ 7« 728 | 3 |3.56 [5.00 [[E026300[15HR s = 7 L& REREER 2 [3.20 [4.57
P180700 |Brigiss - mbd R OEE 2 |B®A 7+ 78| 3 |3.57 [4.56 |[E028000|F8 ¥ %+ REREER 4 [2.54 [4.53
P180800 [IEHM A T 1 7HEEE [Bwm~ 7« 728 | 2 [3.31 [4.51 [[E028500 (s & xR —" BeERAEER 2 [1.63 |4.55
P181200 |m%%E oo | CTEAL |EHA7« 728 | 2 | 1.50 | 4.29 ||E028900 |H#uigii@ttim ReERAEERl 2 11.88 [4.72
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